3 Digits Addition Worksheet

Name: ... Date: ......................

@

Work out each sum:

7 11 = Ih k
0271 w421 | |73 a)[ |72 b) 45 3)45 A Zf
524 +b643 +621  +122 Sl
176 + 434 = q 3 53 another bag with
—— ———— | | 212. How many
810 + 523 = potatoes do I have
c) 123 d) 777 c) 473 d)[ |21 altogether?
+311 +425 108 + 215 = +5472 +144
15 4 15
331 +723 = b) I have a box of
e) 221 §) 622 e) 60 ] f) 511 352 pencils and my
+424 +275 766 + 471 = +228 +843 brother has a box of
28 54 278. How many
190 + 482 = pencils do we have
g)990  h) 999 g) 43[] h) 669 | | altogether?
+122 +534 109+213=__ +192  +333
. _ | | 256 + 627 = L2712 j%
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